ISHIDA IP-Al-P
Cassette Unit

Part Number/Price

REF # PART # DESCRIPTION

1 196265 Frame, cassette

2 Consult Cover, gear

3 Consult Cover, gear, rolling

4 Consult Frame, cassette, front

5 Consult Base, cassette

6 Consult Frame, cassette, rear

7 Consult Frame assy, print

8 Consult Frame, print, cassette

9 175001 Roller, printer, round 15.6
10 175002 Roller, printer, round 15.3
11 93355 Bush

12 175003 Holder, sensor

13 175004 Cover, sensor

14 175005 Plate assy, peeling pole

15 45201 Guide, label

16 187345 Lever unit, damper

17 Consult Bracket, roller, assist

18 Consult Holder, roller, assist

19 187346 Shatt, roller, assist

20 187347 Roller, assist

21 187348 Spring, coil, compress

22 187349 TEP screw, pan head

23 187350 Limiter assy, one way

24 187351 Brake spr bracket

25 187352 Brake spr

26 187354 Gear, idler, 25

27 187355 Gear, flat

28 187356 Gear, flat

29 187357 Shaft, step, wind

30 187358 Spring pin M3x16 mm SST
31 157781 Cover, rolling

32 101104 Bobbin, rolling

33 101105 Holder, rolling, hold

34 157782 Spring, coil, compress

35 172635 Bearing, radial

36 187360 Spring, lever

37 187361 Guide, label roll

38 187362 Holder, guide, label

39 187363 Shaft, bobbin

— 189337 Cross hexagon bolt, M4x10 mm zinc
40 187364 Spring plate, pipe

4 187365 Guide, printer, cassette

42 187366 Roller

46 Consult Decal, label loading instructions
47 187367 Tapping screw, plus, threadlock M4x8 SST
49 187369 TP screw M3x4 washer head SST
51 187370 Threaded rod, round, mm
52 175006 Catch and ball assy

53 187371 Guide, label

55 187372 Guide, label

56 Consult Bracket, guide, label

100 175007 Sensor assy, label

999 Consult Cover, cassette, harness
999 187373 Spring, coil, tension

999 187368 Collar, spacer

999 Consult Accessory, band, cable tie
ASSY 196267 Cassette unit, complete assembly

ary SYNONYM

AlaNNmA aAlalalaaaappo s AmAlalalaaaaappaaaappRw e AaRlAalanNNElalaAaaaapnAaslalaalalalalalalala

100-000-6448-00
100-000-6449-01
100-000-6450-00
000-110-7870-21
100-000-9908-01
100-000-9909-01
100-000-9910-02
100-000-9911-00
100-000-9912-00
100-000-9913-00
000-064-0201-24
100-000-6451-00
000-100-2745-30
100-014-0617-00
000-020-6991-20
100-000-9921-00
000-110-7871-33
000-111-5945-26
000-113-8068-07
000-113-8069-01
000-059-8733-07
000-115-6299-08
000-110-7913-18
000-110-7929-17
000-110-7936-13
000-074-7260-01
000-074-7261-04
100-000-6457-00
000-110-7866-25
000-017-2601-06
000-064-0174-27
000-064-0176-24
000-064-0189-22
000-064-0192-06
000-000-3727-05
100-000-9923-03
100-000-9924-02
100-000-7271-00
100-000-9926-00
000-000-0338-09
000-113-8070-05
000-113-8071-18
000-011-0853-07
100-000-9959-01
000-075-1405-09
000-113-8429-08
000-072-8832-19
000-017-5651-03
000-110-7878-11
100-010-3769-00
100-010-3770-00
100-000-4626-02
100-000-9927-01
100-000-9919-00
000-074-7219-07
000-020-7402-08
100-002-8497-07

An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

PRICE
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult

RICE LAKE

WEIGHING SYSTEMS

Q.
3
o
©
2
=
2




Ishida IP-Ai-P

Cassette Unit

FRONT

An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices. RlcE L AKE °
WEIGHING SYSTEMS




